



Sales Tax Exemption

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order		
Purchase Order Date	PO/Reference No.	Revision No.
Apr 11, 2024	AB0907878	0
Contact instructions for questions regarding this Purchase Order:		
If Buyer Contact information is listed below, please contact the Buyer.		
If not, please contact the Customer.		
Buyer Contact:		
Buyer	Buyer Email	Buyer Phone Number
ANR - Ramirez, Anthony	anramirez@pvamu.edu	936-261-1933
Customer Contact:		
Name:	Sharon Barnes	
Email:	SDBARNES@PVAMU.EDU	
Phone:	+1 936-261-1518	

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: <http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf>

Supplier Information		Delivery Information	
Delivery Address		Delivery Information	
Supplier Name	GAYLORD BROS INC		
Address	7282 WILLIAM BARRY BLVD NORTH SYRACUSE, New York 132214901 United States	TAMUS Member:	05-Prairie View A&M University (05)
Phone	+1 800-448-6160 ext. 8257	Attn:	Sharon D. Barnes
Fax	+1 800-272-3412	Library	
FOB / FREIGHT	Destination	c/o Central Receiving Warehouse	
Pre-Pay & Add	No	Room	Rm. 123A
Payment Terms	0, Net 30	1178 Reda Bland Evans St MS 1040	
Contract Number - Header	<i>no value</i>	Prairie View, TX 77446	
Contract Number - Line	<i>no value</i>	United States	
Quote number		Delivery Information	
		Required Delivery Date	
		Ship Via	Best Carrier-Best Way

Notes to Supplier

PO Clauses

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
--------	-----	--	---

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 32	Gaylord Blue E-Flute Box Metal Edge 10 1/4Wx12Lx5"H	EFSB1210	EA	21.37 USD	40 EA	854.80 USD

2 of 32	Gaylord Blue E-Flute Box Metal Edge16Wx20Lx5"H	EFSB2016	EA	33.74 USD	68 EA	2,294.32 USD
3 of 32	Book Boxes Adjustable Buffered E-Flute 8" x 11" Pkg 5	58053	EA	22.89 USD	4 EA	91.56 USD
4 of 32	Book Boxes Adjustable Buffered E-flute 9 x 12" Pkg 5	58050	EA	28.70 USD	4 EA	114.80 USD
5 of 32	Safco 39" Horizontal Stacking Trays Pkg 2	4897	EA	187.19 USD	3 EA	561.57 USD
6 of 32	Gaylord Blue E-Flute Box Metal Edge16Wx20Lx5"H	EFSB2016	EA	33.74 USD	40 EA	1,349.60 USD
7 of 32	Gaylord E Flute Corrugated Board 40 x 60" Pkg 25	EFCB4040	EA	296.78 USD	2 EA	593.56 USD
8 of 32	Gaylord E Flute Blue Corrugated Board 20 x 24" Pkg 10	EFCB2024	EA	42.67 USD	10 EA	426.70 USD
9 of 32	Gaylord E Flute Blue Corrugated Board 16 x 20" Pkg 10	EFCB1620	EA	28.59 USD	10 EA	285.90 USD
10 of 32	DuraShield E-flute Shallow Lid Box Blue 12W x 15L x 10"H	BESEFSB1215	EA	30.02 USD	30 EA	900.60 USD
11 of 32	Gaylord E Flute Blue Corrugated Board 8 x 10" Pkg 10	EFCB810	EA	14.81 USD	10 EA	148.10 USD
12 of 32	Gaylord Classic Storage Carton with Handholds Blue Pkg 5	RC121510-5	EA	53.73 USD	8 EA	429.84 USD
13 of 32	DuraShield E-flute Shallow Lid Box Blue 16W x 20L x 5"H	BESEFSB2016	EA	41.34 USD	70 EA	2,893.80 USD
14 of 32	Black Barrier Board Textile Box w/Tissue 6H x 18W x 30"L	59071B	EA	50.51 USD	15 EA	757.65 USD
15 of 32	Gaylord Unbuffered Shredded Tissue	SAT001	EA	17.00 USD	40 EA	680.00 USD
16 of 32	8 mil Polypropylene Album Pages for 5 x 7" Prints Pkg 25	PP5725-4	EA	12.68 USD	50 EA	634.00 USD

17 of 32	8 mil Polypropylene Album Pages for 4 x 6" Prints Pkg 25	PP4625-6	EA	12.68 USD	50 EA	634.00 USD	
18 of 32	Gaylord Archival Tan Newspaper Kit 13W x 18L x 3"H	NPK18133T	EA	33.11 USD	30 EA	993.30 USD	
19 of 32	Wishab White Dry Cleaning Sponge	78002	EA	20.63 USD	2 EA	41.26 USD	
20 of 32	Absorene Paper & Book Cleaner	BS100	EA	9.91 USD	1 EA	9.91 USD	
21 of 32	Anti-Tarnish Strips Pkg 20	ATS20	EA	12.68 USD	2 EA	25.36 USD	
22 of 32	Box Cotton Knit Rags	51053	EA	41.69 USD	1 EA	41.69 USD	
23 of 32	Unbleached Cotton Tying Tape 100 yds. 5/16"	CT100	EA	12.16 USD	1 EA	12.16 USD	
24 of 32	Gaylord Classic Full 1" Tab Legal Size File Folders Pkg 100	F9114	EA	37.25 USD	30 EA	1,117.50 USD	
25 of 32	Gaylord Archival 12" LP Record & Laser Disc Box Blue Grey	RB13136	EA	25.08 USD	6 EA	150.48 USD	
26 of 32	Gaylord Archival 10" LP Record Box Blue Grey	RB10107	EA	23.87 USD	4 EA	95.48 USD	
27 of 32	Gaylord 10 pt Folder Stock 13" LP Record Envelopes Pkg 25	LP13	EA	58.11 USD	6 EA	348.66 USD	
28 of 32	Gaylord 10 pt Folder Stock 10" LP Record Envelopes Pkg 25	LP10	EA	46.01 USD	4 EA	184.04 USD	
29 of 32	Book Boxes Adjustable Buffered E-Flute 5" x 7" Pkg 5	58052	EA	17.16 USD	7 EA	120.12 USD	
30 of 32	Book Boxes Adjustable Buffered E-flute 9 x 6 Pkg 5	58045	EA	17.12 USD	30 EA	513.60 USD	

31 of 32	Book Boxes Adjustable Buffered E-flute 7 X 10" Pkg 5	58049	EA	22.85 USD	10 EA	228.50 USD
32 of 32	Shipping & Handling **NOTE: This will be charged separately per each invoice; not invoiced all at once**	N/A	LO	1.00 USD	990 LO	990.00 USD
		Total		18,522.86 USD		

Billing Information	Billing Address
<p>To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via CXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.</p> <p>Invoice must include the PO/Reference number shown above.</p>	<p>Prairie View A&M University- Accounts Payable</p> <p>***Do Not Mail Invoices***</p> <p>Email invoices to Payables@pvamu.edu P.O. Box 519 MS 1311 Prairie View, TX 77446-0519 United States</p>